KEREBR(FHMIFE)

= - HEE AEH AE dtEH

” ERRERE (mg/L) KB % #KIER [RYSEED
1 |—fMEE 1001& /ml 0 1 0
Y PN 1 T 2t P24 =k
H3 |WhINARUZDIEEY 0.003 <0.0003 <0.0003 <0.0003
Ha |KEBERVZDILEY 0.0005 <0.00005 <0.00005 <0.00005
H5 [ELORUVZDIEEY 0.01 <0.001 <0.001 <0.001
26 |SRUZTDILEY 0.01 <0.001 <0.001 <0.001
27 |[ERRUZDILEY 0.01 0.001 <0.001 0.001
Hg |fflivnLieE 0.02 <0.002 <0.002 <0.002
B |EHBEER 0.04 <0.004 <0.004 <0.004
210 |71 A L RUIEIES T 0.01 <0.001 <0.001 <0.001
B |HBEEERRUEHBREER 10 5.2 2.1 0.8
H12 |D9RRUZDILEY 0.8 0.15 0.09 0.1
H13 |RORRUZDILEY 1.0 0.04 0.02 0.04
H14 |UiEibrFE 0.002 <0.0002 <0.0002 <0.0002
15 [1, 4-OFFH> 0.05 <0.001 <0.001 <0.001
16 [YRARUMSVR-1, 2-o/0ATFLY 0.04 <0.002 <0.002 <0.002
17 [oynnray 0.02 <0.001 <0.001 <0.001
#18 |[ThZY0OOTFLY 0.01 <0.001 <0.001 <0.001
Zi19 |MJHyooxTFLY 0.01 <0.001 <0.001 <0.001
20 [Ro+EY 0.01 <0.001 <0.001 <0.001
Hot |1E%KEE 0.6 0.08 0.05 0.13
22 |yOOfEEE 0.02 <0.002 <0.002 <0.002
23 |yoOokiL L 0.06 <0.001 0.002 0.017
#H24 |OH/OOBEER 0.03 <0.002 0.002 0.006
o5 |TJOoEy/OO0ARY 0.1 <0.001 0.007 0.003
#Ho6 |RRER 0.01 <0.001 <0.001 <0.001
27 [#ak)\O ARy 0.1 <0.001 0.016 0.028
#28 |M)yOOFEE 0.03 <0.002 <0.002 0.009
#29 |[JoEDH/OOAEY 0.03 <0.001 0.004 0.008
#30 [FoEHRILL 0.09 <0.001 0.003 <0.001
£H31 |FRILLTZILTER 0.08 <0.001 0.001 0.003
32 |FEHRRUVZDIEEY 1.0 <0.005 <0.005 <0.005
H33 |ZIZZHLRUVZDIEEY 0.2 <0.01 <0.01 0.04
H34 | B RUVZDEEY 0.3 <0.01 0.02 <0.01
H35 ARV ZDIELEY 1.0 0.009 0.009 <0.005
H36 | FRIILRUVZDIEEY 200 17 17 10
H37 |RVAVRUZDILEY 0.05 <0.001 0.002 <0.001
H38 1Bt 1A> 200 19 13 16
39 [ANyIh, I 2 LEGERE) 300 138 104 73
A0 |RFREED 500 254 183 139
B fEA4A FmiEHEH 0.2 <0.02 <0.02 <0.02
Hao [CxARIY 0.00001 <0.000001 <0.000001 <0.000001
A3 [2-AFILAYRILRF—IL 0.00001 <0.000001 <0.000001 0.000002
Haa A4 FREmiEHEH 0.02 <0.002 <0.002 <0.002
FHas5 |ox/—L 58 0.005 <0.0005 <0.0005 <0.0005
a6 | B (EFRKFRTOC)DE) 3 <03 <03 1
a7 |PH{E 5.8~8.6 7.2 7.1 7.6
Hag |k BEEThHN EELGL BEGL EELGL
Ha9 |BR BEThN EELGL 2EGL 2ELGL
H50 |BE 5 <05 <05 <05
51 | AE 2 <01 <0.1 <01




